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EXPERIMENT#1: Inverting Amplifier 
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According to the manual calculation, the gain of inverting amplifier should be 10, and it 
can be seen in the oscilloscope and simulation that the output waveform is 10 times 
amplified. Then as the name suggests, output will be inverted as compared to input 
which means it will be 180 out of phase than the input which is also evident in the 
graphs. 
 

Jatin Desai
10430000000358224
10/10



 
 

EXPERIMENT#2: Non-inverting amplifier 
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According to the manual calculation, the gain of non inverting amplifier should be 11, 
and it can be seen in the oscilloscope and simulation that the output waveform is 11 
times amplified. Then as the name suggests, output will be non inverted as compared to 
input which means it will in phase with the input which is also evident in the graphs. 
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EXPERIMENT#3: Low Pass Filter 
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We calculated the values of resistors and capacitors based on the cutoff frequency of 
2khz. For a low pass filter, whenever the signal of less than 2khz is passed, it will allow 
it. But when signal is out of the band, it will attenuate it. 
 
 

Jatin Desai
10430000000358224
10/10

Jatin Desai
10430000000358224
I like this statement written by you. Just the thing an electrical engineer should understand. Keep it up!!!



 
EXPERIMENT#4: High Pass Filter 
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